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N.B. .— (@) Solve question No. 1 on OMR sheet and first half an hour is for

this question.

(i) Question No. 1 and 2 are compulsory.
(zi1) All questions carry equal marks.

(tv) Negative marks for wrong answers.
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MCQ
1. Multiple Choice Questions : 10
TEIAE T
@) There are ............. sellers in perfect competition.
(A)  Limited (B) Hundred
(C)  Two (D) Many
Euf T e ey oToad
A)  HEifcd (B) WM
(C) = (D) e
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(1) In perfect competition, when AR is greater than AC, there is ...........

(A)  Super profit (B)  Loss

(C) Normal profit (D) None of these

ol WET SR HOEd W g Wl wEie S see o &I,
(A)  efafE T (B) =l

(C) HIERU T (D) aTden! R

(zii) The demand of labour depends on :
(A) Demand of goods produced by that particular labour
(B) Demand for substitute labour
(C)  Effect of production techniques
(D) All of the above
FHT AFTO AR STaeed 3T9d
(A) < foefise gfifsr TR Sholedl SRg=AMETeR
(B)  #HTel YRR SR HITOTER
(C)  SCURHA e qRomHTeR
(D) Fdeient w

(v) ~ Demand for Lonable funds depends on :

(A)  Demand for Investment

(B)  Demand for consumtpion

(C)  Demand for hoarding

(D) All of the above

oS EREE! HEOT IR Faded 9d
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Product differentiation is possible through :

(A) Packing (B) Trade mark
(C)  Advertisement (D) All of these
SIS YT Wil YR 3E 7

(A) T (B) =t faw

(C) ifeT (D) =TT Hel

Which of the following is not the example of monopolistic

competition ?

(A)  Soap (B)  Washing Powder
(C) Tooth Paste (D)  Indian Railway
WICATCTUsh! iU AeRIGRIZA T SaTeX0l AT ?

(A)  E@Eu (B)  guarel Hiel

(C) 329 & (D) ¥R &

The concept of ‘Quasi Rent’ is introduced by :

(A)  Robins (B)  Knight

(C)  Keynes (D) Marshall
AR W F e T

(A) et (B) e

©) =4 (D) AR
Schumpeter deemed profit as the reward for :

(A)  Uncertainty (B) Insurance

(C)  Hard work (D) Innovation
ST WA TR BT T HEge R

(A)  SAff=Eaa (B) fam

(C) T (D) et
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(zx)  Under monopoly, seller is ...............

(A)  Price taker (B) ~ Price maker
(C) Both (A) and (B) (D) None of these
O S — S
(A) fema e (B)  ferwa hal
C©) (A sufor (B) = (D)  aGeTRT R

(x)  The Greek word ‘Poly’ means :

(A) Single (B)  Seller

(C) Double (D) All of these

% o Poly =N :

A) TH (B)  fashan

(C) gme (D) IRt wd
Theory

What is perfect competition ? Explain the characteristics of perfect

competition. 10
o Tl RUS & 2 qU e afitel v &

What is price discrimination ? What are the favourable conditions for price

discrimination. 10

Aea9e US| %d ? HeAucIdie! STevdes STHUFA 3T .
Or
(fenam)
Explain the short-term equilibrium of firm under monopolistic

competition.

TRIGRITR T8 Ueld TeUahiel o T .
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4. Explain the Ricardian theory of rent.

Raret=n faga = .
Or
(fenam)
Explain the liquidity preference theory of Interest.
el el St fHgia s &
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